
X-sect = 5.943E-03(pb)   AVG = 9.900E-01   RMS = 0.000E+00
Tot # Evts =   10000  Entries =   10000  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   10000  Entries =   10000  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   10000  Entries =   10000  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   10000  Entries =   10000  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   10000  Entries =   10000  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 1.634E+02   RMS = 5.702E+01
Tot # Evts =   10000  Entries =    9998  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 4.050E+01   RMS = 1.767E+01
Tot # Evts =   10000  Entries =    9974  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 4.022E+01   RMS = 1.773E+01
Tot # Evts =   10000  Entries =    9977  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 4.030E+01   RMS = 1.793E+01
Tot # Evts =   10000  Entries =    9972  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 4.019E+01   RMS = 1.753E+01
Tot # Evts =   10000  Entries =    9972  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG =-7.050E-03   RMS = 1.624E+00
Tot # Evts =   10000  Entries =    9986  Undersc =     7  Over



X-sect = 5.943E-03(pb)   AVG =-2.411E-02   RMS = 1.603E+00
Tot # Evts =   10000  Entries =    9985  Undersc =     6  Over



X-sect = 5.943E-03(pb)   AVG =-2.278E-02   RMS = 1.625E+00
Tot # Evts =   10000  Entries =    9987  Undersc =     4  Over



X-sect = 5.943E-03(pb)   AVG =-2.367E-02   RMS = 1.611E+00
Tot # Evts =   10000  Entries =    9985  Undersc =     8  Over



X-sect = 5.943E-03(pb)   AVG = 2.858E+00   RMS = 5.668E-01
Tot # Evts =   10000  Entries =    9946  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 2.239E+00   RMS = 8.867E-01
Tot # Evts =   10000  Entries =    9974  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 2.176E+00   RMS = 8.979E-01
Tot # Evts =   10000  Entries =    9976  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 2.172E+00   RMS = 8.884E-01
Tot # Evts =   10000  Entries =    9974  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 2.244E+00   RMS = 8.834E-01
Tot # Evts =   10000  Entries =    9965  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 2.870E+00   RMS = 5.741E-01
Tot # Evts =   10000  Entries =    9960  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 9.141E+01   RMS = 8.015E+00
Tot # Evts =   10000  Entries =   10000  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 7.659E+01   RMS = 4.088E+01
Tot # Evts =   10000  Entries =    9981  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 7.468E+01   RMS = 3.975E+01
Tot # Evts =   10000  Entries =    9983  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 7.455E+01   RMS = 4.035E+01
Tot # Evts =   10000  Entries =    9985  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 7.645E+01   RMS = 3.935E+01
Tot # Evts =   10000  Entries =    9985  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 9.141E+01   RMS = 8.015E+00
Tot # Evts =   10000  Entries =   10000  Undersc =     0  Over



X-sect = 5.943E-03(pb)   AVG = 1.203E-02   RMS = 5.630E-01
Tot # Evts =   10000  Entries =   10000  Undersc =     0  Over


